

## Jordan Higher $\star$ -Left (Accordingly Right)-Centralizers on Prime Rings With Involution

Auday Hekmat Mahmood<sup>1</sup>, Salah Mehdi Salih<sup>1,\*</sup>, Radwan Mohammed Al-Omary<sup>2</sup>

<sup>1</sup>Department of Mathematics, College of Education, Mustansiriyah University, Baghdad, Iraq.

<sup>2</sup> Department of Mathematics, Ibb University, Ibb, Yemen.

### Article's Information

Received: 10.06.2024  
Accepted: 06.02.2025  
Published: 15.06.2025

### Keywords:

Higher centralizer  
Prime Ring with involution

### Abstract:

In this paper we introduce the concepts higher  $\star$ -left (accordingly right) centralizer, Jordan higher  $\star$ -left (accordingly right) centralizer. We prove Any  $JH\star L(AR)C$  on prime ring  $R$  has characteristic different from 2 with involution is  $H\star L(AR)C$  on  $R$ .

<http://doi.org/10.22401/ANJS.28.2.18>

\*Corresponding author: [dr.salahms2014@uomustansiriyah.edu.iq](mailto:dr.salahms2014@uomustansiriyah.edu.iq)



This work is licensed under a [Creative Commons Attribution 4.0 International License](https://creativecommons.org/licenses/by/4.0/)

### 1. Introduction

Assume  $R$  be a ring with involution, (In short  $\star$ -ring) the concept of prime ring was presented in [5] the concept of 2-torsion free was presented in [2]. The concept of higher left centralizer on  $R$  was presented in [6]. For more information see [3,4],[7-9]. Let  $\star: R \rightarrow R$  be an additive map of  $R$  satisfying: i)  $(\ell \star q)^\star = q^\star \ell^\star$  and ii)  $(\ell \star q)^\star = \ell^\star$ , for all  $\ell, q \in R$ . then  $R$  is called ring with involution [1]. The objective of this article specify the relation between two concepts: higher  $\star$ -left (accordingly right) centralizer and Jordan higher  $\star$ -left (accordingly right) centralizer within certain conditions.

### 2. Higher $\star$ -Left (Accordingly Right) Centralizers on Ring with Involution

**Definition 2.1:** A family of additive mappings  $\mathcal{G} = (\mathcal{G}_i)_{i \in \mathbb{N}}$  is called higher  $\star$ -left (accordingly right) centralizers (abbreviation  $H\star L(AR)C$ ) of  $R$  if  $\forall \eta, \vartheta \in R$  and  $n \in \mathbb{N}$  then  $\mathcal{G}_n(\vartheta\eta) = \sum_{i=1}^n \mathcal{G}_i(\vartheta) \mathcal{G}_{i-1}(\eta^\star)$  (accordingly  $\mathcal{G}_n(\vartheta\eta) = \sum_{i=1}^n \mathcal{G}_{i-1}(\vartheta^\star) \mathcal{G}_i(\eta)$ )  
f is said to be jordan higher  $\star$ -left (accordingly right) centralizers ( $JH\star L(AR)C$ ) of  $R$  if  $\mathcal{G}_n(\vartheta^2) = \sum_{i=1}^n \mathcal{G}_i(\vartheta) \mathcal{G}_{i-1}(\vartheta^\star)$  (resp.  $\mathcal{G}_n(\vartheta^2) = \sum_{i=1}^n \mathcal{G}_{i-1}(\vartheta^\star) \mathcal{G}_i(\vartheta)$ )  
 $\mathcal{G}$  is said to be Jordan higher triple  $\star$ -left (accordingly right) centralizers ( $JHT\star L(AR)C$ ) of  $R$  if  $\mathcal{G}_n(\vartheta\eta\vartheta) = \sum_{i=1}^n \mathcal{G}_i(\vartheta) \mathcal{G}_{i-1}(\eta^\star) \mathcal{G}_{i-1}(\vartheta^\star)$

(resp.  $\mathcal{G}_n(\vartheta\eta\vartheta) = \sum_{i=1}^n \mathcal{G}_{i-1}(\vartheta^\star) \mathcal{G}_{i-1}(\eta^\star) \mathcal{G}_i(\vartheta)$ ).

**Example 2.2:** Let  $\mathbb{Z}$  be the ring of integers, and  $R = \left\{ \begin{pmatrix} 0 & u \\ 0 & 0 \end{pmatrix} : u \in \mathbb{Z} \right\}$  be a ring,  $\mathcal{G} = (\mathcal{G}_i)_{i \in \mathbb{N}}$

defined on  $R$  by

$$\mathcal{G}_n \begin{pmatrix} 0 & u \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 3nu \\ 0 & 0 \end{pmatrix}, \text{ for all } u \in \mathbb{Z}, n \in \mathbb{N}.$$

$\star: R \rightarrow R$  defined by  $\begin{pmatrix} 0 & u \\ 0 & 0 \end{pmatrix}^\star = \begin{pmatrix} 0 & 7u \\ 0 & 0 \end{pmatrix}$ , for all  $\begin{pmatrix} 0 & u \\ 0 & 0 \end{pmatrix} \in R$ . Then  $\mathcal{G}$  is  $H\star L(AR)C$  on  $R$ .

**Lemma 1:** If  $\mathcal{G} = (\mathcal{G}_i)_{i \in \mathbb{N}}$  is  $JH\star L(AR)C$  on prime rings with involution  $R$  then  $\forall \vartheta, \eta \in R$

- $\mathcal{G}_n(\vartheta\eta + \eta\vartheta) = \sum_{i=1}^n \mathcal{G}_i(\vartheta) \mathcal{G}_{i-1}(\eta^\star) + \mathcal{G}_i(\eta) \mathcal{G}_{i-1}(\vartheta^\star)$
- $\mathcal{G}_n(\vartheta\eta w + w\eta\vartheta) = \sum_{i=1}^n \mathcal{G}_i(\vartheta) \mathcal{G}_{i-1}(\eta^\star) \mathcal{G}_{i-1}(w^\star) + \mathcal{G}_i(w) \mathcal{G}_{i-1}(\eta^\star) \mathcal{G}_{i-1}(\vartheta^\star)$
- If  $R$  is 2-torsion free and  $\vartheta\eta = \eta\vartheta$ ,  $\forall \vartheta, \eta \in R$ , then  $\mathcal{G}_n(\vartheta\eta w) = \sum_{i=1}^n \mathcal{G}_i(\vartheta) \mathcal{G}_{i-1}(\eta^\star) \mathcal{G}_{i-1}(w^\star)$

**Proof:** i)  $\mathcal{G}_n((\vartheta + \eta)(\vartheta + \eta)) = \sum_{i=1}^n \mathcal{G}_i((\vartheta + \eta)(\vartheta + \eta))$   
 $= \sum_{i=1}^n \mathcal{G}_i(\vartheta + \eta) \mathcal{G}_{i-1}(\vartheta + \eta)$   
 $= \sum_{i=1}^n \mathcal{G}_i(\vartheta) \mathcal{G}_{i-1}(\eta^\star) + \mathcal{G}_i(\vartheta) \mathcal{G}_{i-1}(\eta^\star) + \mathcal{G}_i(\eta) \mathcal{G}_{i-1}(\vartheta^\star) + \mathcal{G}_i(\eta) \mathcal{G}_{i-1}(\eta^\star) \dots (1)$

Again

$$\mathcal{G}_n((\vartheta + \eta)(\vartheta + \eta)) = \mathcal{G}_n(\vartheta^2 + \vartheta\eta + \eta\vartheta + \eta^2)$$

$$= \sum_{i=1}^n \mathcal{G}_i(\vartheta) \mathcal{G}_{i-1}(\vartheta^\star) + \mathcal{G}_i(\eta) \mathcal{G}_{i-1}(\eta^\star) + \mathcal{G}_n(\vartheta\eta + \eta\vartheta) \dots (2)$$

So, by (1) and (2) we have

$$g_n(\theta\eta + \eta\theta) = \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*) + g_i(\eta) g_{i-1}(\theta^*)$$

ii) Replacing  $\theta + w$  for  $\theta$  in definition 2.1

$$\begin{aligned} g_n((\theta + w)\eta + \eta(\theta + w)) &= \sum_{i=1}^n g_i(\theta + w) g_{i-1}(\eta^*) + g_i(\eta) g_{i-1}(\theta + w)^* \\ &= \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*) + g_i(w) g_{i-1}(\eta^*) + g_i(\eta) g_{i-1}(\theta^*) + g_i(w) g_{i-1}(\theta^*) \end{aligned} \quad \dots (3)$$

Again

$$\begin{aligned} g_n((\theta + w)\eta + \eta(\theta + w)) &= g_n(\theta\eta + \eta\theta + \theta w + w\theta + \eta w + w\eta) \\ &= \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*) + g_i(w) g_{i-1}(\eta^*) + g_i(\eta) g_{i-1}(\theta^*) + g_i(w) g_{i-1}(\theta^*) \end{aligned} \quad \dots (4)$$

By (3) and (4) we get

$$g_n(\theta\eta w + w\eta\theta) = \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*) g_{i-1}(w^*) + g_i(w) g_{i-1}(\eta^*) g_{i-1}(\theta^*)$$

iii) By (ii) and R is commutative 2-torsion free.

**Remark 2.3:** If  $g = (g_i)_{i \in \mathbb{N}}$  is  $JH^*L(AR)$  C on R with involution we define  $\varphi_n(\theta, \eta)$  by

$$\varphi_n(\theta, \eta) = g_n(\theta\eta) - \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*) \quad \forall \theta, \eta \in R.$$

**Lemma 2 :** If  $g = (g_i)_{i \in \mathbb{N}}$  is  $JH^*L(AR)$  C on R with involution then  $\forall \theta, \eta, w \in R$ .

- 1)  $\varphi_n(\theta, \eta) = -\varphi_n(\eta, \theta)$
- 2)  $\varphi_n(\theta + w, \eta) = \varphi_n(\theta, \eta) + \varphi_n(w, \eta)$
- 3)  $\varphi_n(\theta, \eta + w) = \varphi_n(\theta, \eta) + \varphi_n(\theta, w)$

**Proof:** 1) By lemma 1(i)

$$\begin{aligned} g(\theta\eta + \eta\theta) &= \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*) + g_i(\eta) g_{i-1}(\theta^*) \\ g(\theta\eta) - \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*) &= -g(\eta\theta) - \sum_{i=1}^n g_i(\eta) g_{i-1}(\theta^*) \\ \varphi_n(\theta, \eta) &= -\varphi_n(\eta, \theta) \\ 2) \varphi_n(\theta + w, \eta) &= g_n((\theta + w)\eta) - \sum_{i=1}^n g_i(\theta + w) g_{i-1}(\eta^*) \\ &= g_n(\theta\eta + w\eta) - \sum_{i=1}^n (g_i(\theta) + g_i(w)) g_{i-1}(\eta^*) \\ &= g_n(\theta\eta) + g_n(w\eta) - \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*) - \sum_{i=1}^n g_i(w) g_{i-1}(\eta^*) \\ &= \varphi_n(\theta, \eta) + \varphi_n(w, \eta) \\ 3) \varphi_n(\theta, \eta + w) &= g_n(\theta(\eta + w)) - \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta + w)^* \\ &= g_n(\theta\eta + \theta w) - \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*) - \sum_{i=1}^n g_i(\theta) g_{i-1}(w^*) \\ &= \varphi_n(\theta, \eta) + \varphi_n(\theta, w) \end{aligned}$$

**Remark 2.4:** Let R be a ring with involution then  $g = (g_i)_{i \in \mathbb{N}}$  is  $H^*L(AR)$  C on R iff  $\varphi_n(\theta, \eta) = 0$ ,  $\forall \theta, \eta \in R$  and  $n \in \mathbb{N}$ .

### 3. The Main Results

**Lemma 3:** If  $g = (g_n)_{n \in \mathbb{N}}$  is on prime ring with involution R then  $\forall \theta, \eta, w \in R$  and  $n \in \mathbb{N}$   
 $\varphi_n(\theta, \eta) g_{n-1}(w^*) [g_{n-1}(\theta^*), g_{n-1}(\eta^*)] = 0$

**Proof:** Suppose that the result satisfies  $\forall p \in \mathbb{N}$ , where  $p < n$

$$\varphi_p(\theta, \eta) g_{p-1}(\eta^*) [g_{p-1}(\theta^*), g_{p-1}(\eta^*)] = 0$$

then by using mathematical induction on n, we have.

Now if  $m = \theta\eta w\eta\theta + \eta\theta w\theta\eta$ , then

$$\begin{aligned} g_n(m) &= g_n((\theta\eta w)(\eta\theta) + g_n(\eta\theta w)(\theta\eta)) \\ &= g_n((\theta\eta w)(\eta\theta)) + g_n(\eta\theta w)(\theta\eta) \\ &= \sum_{i=1}^n g_i(\theta\eta w) g_{i-1}(\eta\theta)^* + g_i(\eta\theta w) g_{i-1}(\theta\eta) \\ &= \end{aligned}$$

$$\sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*) g_{i-1}(w^*) g_{i-1}(\theta^*) + g_i(\eta) g_{i-1}(\theta^*) g_{i-1}(w^*) g_{i-1}(\eta^*)$$

$$= \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*) g_{n-1}(w^*) g_{n-1}(\theta^*) g_{n-1}(\eta^*) + \sum_{i=1}^{n-1} g_i(\theta) g_{i-1}(\eta^*) g_{n-1}(w^*) g_{n-1}(\theta^*) g_{n-1}(\eta^*)$$

$$+ \sum_{i=1}^n g_i(\eta) g_{i-1}(\theta^*) g_{n-1}(w^*) g_{n-1}(\eta^*) g_{n-1}(\theta^*)$$

$$+ \sum_{i=1}^n g_i(\eta) g_{i-1}(\theta^*) g_{i-1}(w^*) g_{i-1}(\eta^*) g_{n-1}(\theta^*) \quad \dots (5)$$

Again

$$\begin{aligned} g_n(m) &= g_n((\theta\eta)w(\eta\theta) + g_n(\eta\theta)w(\theta\eta)) \\ &= \sum_{i=1}^n g_n(\theta\eta) g_{i-1}(w^*) g_{i-1}(\eta\theta)^* + g_i(\eta\theta) g_{i-1}(w^*) g_{i-1}(\theta\eta)^* \\ &= g(\theta\eta) g_{n-1}(w^*) g_{n-1}(\eta\theta)^* + \sum_{i=1}^{n-1} g_i(\theta\eta) g_{i-1}(w^*) g_{i-1}(\eta\theta)^* \\ &\quad + g(\eta\theta) g_{n-1}(w^*) g_{n-1}(\theta\eta)^* + \sum_{i=1}^{n-1} g_i(\eta\theta) g_{i-1}(w^*) g_{i-1}(\theta\eta)^* \end{aligned} \quad \dots (6)$$

By comparing (5), (6) and the assumption, we get

$$\begin{aligned} 0 &= (g_n(\theta\eta) - \sum_{i=1}^n g_i(\theta) g_{i-1}(\eta^*)) g_{n-1}(w^*) g_{n-1}(\theta^*) \\ &\quad + g_{n-1}(\eta^*) + (g(\eta\theta) - \sum_{i=1}^n g_i(\eta) g_{i-1}(\theta^*)) g_{n-1}(w^*) g_{n-1}(\eta^*) g_{n-1}(\theta^*) \\ &= \varphi_n(\theta, \eta) g_{n-1}(w^*) g_{n-1}(\theta^*) g_{n-1}(\eta^*) + \varphi_n(\eta, \theta) g_{n-1}(w^*) g_{n-1}(\eta^*) g_{n-1}(\theta^*) \\ &= \varphi_n(\theta, \eta) g_{n-1}(w^*) g_{n-1}(\theta^*) g_{n-1}(\eta^*) - \varphi_n(\theta, \eta) g_{n-1}(w^*) g_{n-1}(\eta^*) g_{n-1}(\theta^*) \\ &= \varphi_n(\theta, \eta) g_{n-1}(w^*) [g_{n-1}(\theta^*), g_{n-1}(\eta^*)] \end{aligned}$$

**Lemma 4 :** Let  $g = (g_i)_{i \in \mathbb{N}}$  be  $JH^*L(AR)$  C on prime ring with involution then  $\forall \theta, \eta, q_1, q, p \in R$  and  $n \in \mathbb{N}$   
 $\varphi_n(\theta, \eta) g_{n-1}(q_1^*) [g_{n-1}(q^*), g_{n-1}(p^*)] = 0$

**Proof:** Replacing  $\theta + q$  for  $\theta$  in lemma 3

$$\begin{aligned} \varphi_n(\theta + q, \eta) g_{n-1}(q_1^*) [g_{n-1}(\theta^* + q^*), g_{n-1}(\eta^*)] &= 0 \\ \varphi_n(\theta, \eta) g_{n-1}(q_1^*) [g_{n-1}(\theta^*), g_{n-1}(\eta^*)] + \varphi_n(q, \eta) g_{n-1}(q_1^*) [g_{n-1}(q^*), g_{n-1}(\eta^*)] &+ \\ \varphi_n(q, \eta) g_{n-1}(q^*) [g_{n-1}(\theta^*), g_{n-1}(\eta^*)] + \varphi_n(q, \eta) g_{n-1}(q_1^*) [g_{n-1}(q^*), g_{n-1}(\eta^*)] &= 0 \end{aligned}$$

And by using lemma 3 we have

$$\varphi_n(\theta, \eta) g_{n-1}(q_1^*) [g_{n-1}(q^*), g_{n-1}(\eta^*)] + \varphi_n(q, \eta) g_{n-1}(q_1^*) [g_{n-1}(\theta^*), g_{n-1}(\eta^*)] = 0$$

Therefore

$$0 = \varphi_n(\theta, \eta) g_{n-1}(q_1^*) [g_{n-1}(q^*), g_{n-1}(\eta^*)] + q_1 \varphi_n(\theta, \eta) g_{n-1}(q_1^*) [g_{n-1}(q^*), g_{n-1}(p^*)]$$

$$= \varphi_n(\theta, \eta) \varphi_{n-1}(q_1^*) [\varphi_{n-1}(q^*), \varphi_{n-1}(\eta^*)] \varphi_1(\varphi_n(q, \eta) \mathcal{T} \varphi_{n-1}(q_1^*) [\varphi_{n-1}(\theta^*), \varphi_{n-1}(\eta^*)])$$

Since R is prime we have

$$\varphi_n(\theta, \eta) \varphi_{n-1}(q_1^*) [\varphi_{n-1}(q^*), \varphi_{n-1}(\eta^*)] = 0 \quad \dots (7)$$

On the other hand by replacing  $k+p$  with  $k$  in Lemma 3 and using the same above argument, we get

$$\varphi_n(\theta, \eta) \varphi_{n-1}(q_1^*) [\varphi_{n-1}(\theta^*), \varphi_{n-1}(q^*)] = 0 \quad \dots (8)$$

$$\text{Now, } \varphi_n(\theta, \eta) \varphi_{n-1}(q_1^*) [\varphi_{n-1}(\theta^* + q^*), \varphi_{n-1}(\eta^* + p^*)] = 0$$

$$\varphi_n(\theta, \eta) \varphi_{n-1}(q_1^*) [\varphi_{n-1}(\theta^*), \varphi_{n-1}(\eta^*)] + \varphi_n(\theta, \eta) \varphi_{n-1}(q_1^*) [\varphi_{n-1}(\theta^*), \varphi_{n-1}(p^*)] +$$

$$\varphi_n(\theta, \eta) \varphi_{n-1}(q_1^*) [\varphi_{n-1}(q^*), \varphi_{n-1}(\eta^*)] + \varphi_n(\theta, \eta) \varphi_{n-1}(q_1^*) [\varphi_{n-1}(q^*), \varphi_{n-1}(p^*)] = 0$$

Therefore by using lemma 3, (7) and (8)

$$\varphi_n(\theta, \eta) \varphi_{n-1}(q_1^*) [\varphi_{n-1}(q^*), \varphi_{n-1}(p^*)] = 0$$

**Theorem 5:** Any J H\*L(AR) C on prime ring R has characteristic different from 2 with involution is H\*L(AR) C on R.

**Proof:** Assume that  $\mathcal{G} = (\mathcal{G}_i)_{i \in \mathbb{N}}$  is J H\*L(AR) C on prime ring R. So, by Lemma 4 we have  $\varphi_n(\theta, \eta) = 0$  or  $[\varphi_{n-1}(q^*), \varphi_{n-1}(p^*)] = 0, \forall \theta, \eta, q, p \in R; n \in \mathbb{N}$ .

If  $[\varphi_{n-1}(q^*), \varphi_{n-1}(p^*)] \neq 0, \forall q, p \in R, n \in \mathbb{N}$ , then  $\varphi_n(\theta, \eta) = 0, \forall \theta, \eta \in R; n \in \mathbb{N}$ . So, by remark 2.4 we have  $\mathcal{G}$  is higher  $\star$ -left (accordingly right) centralizers on R.

If  $[\varphi_{n-1}(q^*), \varphi_{n-1}(p^*)] = 0, \forall q, p \in R$ , then R is commutative ring therefore, by proposition 1(i)

$$\mathcal{G}_n(2\theta\eta) = 2 \sum_{i=1}^n \mathcal{G}_i(\theta) \mathcal{G}_{i-1}(\eta^*)$$

Since R is of characteristic different from 2 therefore  $\mathcal{T}$  satisfy the require result.

**Proposition 6:** Any J H\*L(AR) C on characteristic different from 2 ring R with involution is JT H\*L(AR) C on R.

**Proof:** Let  $\mathcal{G} = (\mathcal{G}_i)_{i \in \mathbb{N}}$  is J H\*L(AR) C on ring R

Linearizing by  $\theta\eta + \eta\theta$  in proposition 1(i)

$$\mathcal{G}(\mathcal{G}(\theta\eta + \eta\theta) + (\theta\eta + \eta\theta)\mathcal{G}) = \sum_{i=1}^n \mathcal{G}_i(\theta) \mathcal{G}_{i-1}((\theta\eta + \eta\theta)^*) + \mathcal{G}_i((\theta\eta + \eta\theta)) \mathcal{G}_{i-1}(\theta^*)$$

$$= \sum_{i=1}^n \mathcal{G}_i(\theta) \mathcal{G}_{i-1}(\eta^*) \mathcal{G}_{i-1}(\theta^*) +$$

$$\mathcal{G}_i(\theta) \mathcal{G}_{i-1}(\theta^*) \mathcal{G}_{i-1}(\eta^*) +$$

$$\mathcal{G}_i(\theta) \mathcal{G}_{i-1}(\eta^*) \mathcal{G}_{i-1}(\theta^*) +$$

$$\mathcal{G}_i(\eta) \mathcal{G}_{i-1}(\theta^*) \mathcal{G}_{i-1}(\theta^*)$$

$$\dots (9)$$

On the other hand

$$\mathcal{G}(\theta(\theta\eta + \eta\theta) + (\theta\eta + \eta\theta)\theta) = \mathcal{G}(\theta\theta\eta + \theta\eta\theta + \theta\eta\theta + \eta\theta\theta)$$

$$= \sum_{i=1}^n \mathcal{G}_i(\theta) \mathcal{G}_{i-1}(\theta^*) \mathcal{G}_{i-1}(\eta^*) +$$

$$\mathcal{G}_{i-1}(\eta) \mathcal{G}_{i-1}(\theta^*) \mathcal{G}_{i-1}(\theta^*) + \mathcal{G}_n(\theta\eta\theta + \theta\eta\theta)$$

$$\dots (10)$$

Therefore by comparing (9) and (10), we get

$$\mathcal{G}_n(2\theta\eta\theta) = 2 \sum_{i=1}^n \mathcal{G}_i(\theta) \mathcal{G}_{i-1}(\eta^*) \mathcal{G}_{i-1}(\theta^*)$$

Since R is of characteristic different from 2 we get  $\mathcal{G}$  is satisfying the required result.

**Corollary 7:** Every J H\*L(AR) C of R with involution on characteristic different from 2 is J HT\*L(AR) C on R.

**Proof:** If  $\mathcal{G} = (\mathcal{G}_i)_{i \in \mathbb{N}}$  is H\*L(AR) C on R so  $\mathcal{G}$  is J H\*L(AR) C and by Proposition 6 we have  $\mathcal{G}$  is Jordan higher triple  $\star$ -left (acco. right) centralizer on R.

## References

- [1] Al-Omary, R.M.; Nauman, S.K.; "On prime rings with involution and generalized derivation". Discussions Math. G. Algebra Appl., 43: 31-39, 2023.
- [2] Alahamdi, A.; Alhazmi, H.; Ali, A.; Khan, A.N.; "A characterization of Jordan left  $\star$ -centralizers in rings with involution". Appl. Math. Information Sci., 11(2): 441-447, 2017.
- [3] Bhushana, B.; Sandhub, G.S.; Alic, S.; Kumar, D.; "A classification of generalized derivations in rings with involution". Filomat, 35(5): 1439-1452, 2021.
- [4] Ferro, M.; Heiting, C.; "Higher derivations and a theorem by Herstein". Quaestiones Math., 25: 1-9, 2002.
- [5] Herstein, I.N.; "Topics in Rings Theory". 2<sup>ed</sup> edition; The University of Chicago Press, USA, 1969.
- [6] Thahab, H.J.; Salih, S.M.; "On Jordan generalized symmetric higher bi-left (resp. right) centralizers on prime  $\Gamma$ -rings". 3<sup>rd</sup> scientific international, 6 April 2021, College of Education for Pure Science Karbala University, Karbala, Iraq. AIP, publishing, USA, AIP Conference Proceedings 2414(1)040073: 1-5, 2023.
- [7] Salih, S.M.; Abd Ali, H.H.; "Orthogonal generalized higher k-derivations on semi prime  $\Gamma$ -rings". Iraqi J. Sci., 64(2): 834-841, 2023.
- [8] Sulaiman, N.N.; Salih, S.M.; "Generalized Jordan triple  $(\sigma, \tau)$ -higher homomorphisms on prime rings". Al-Nahrain J. Sci., 23(3): 76-82, 2020.
- [9] Ibraheem, R.K.; Majeed, A.H.; "On Jordan ideal in prime and semiprime inverse semirings with centralizer". Al-Mustansiriyah J. Sci., 30(4): 77-87, 2019.